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Special Problem 6.6-1 Special Problem 6.6-1 
  
For the differential amplifier shown below, the DC components of vI1 
and vI2 are equal. 
For the differential amplifier shown below, the DC components of vI1 
and vI2 are equal. 
  
Both transistors Q1 and Q2 are in saturation. Both transistors Q1 and Q2 are in saturation. 
  
The transistors are identical, with K= 1mA/V2 and Vt = 1.0 V The transistors are identical, with K= 1mA/V2 and Vt = 1.0 V 
  
Find the small signal differential gain Ad = vo1/vd  for the differential 
amplifier shown below. 
Find the small signal differential gain Ad = vo1/vd  for the differential 
amplifier shown below. 
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	For the differential amplifier shown below, the DC components of vI1 and vI2 are equal.

